ECW 510 SURFACE CONVEYOR

ltem # Part # Description
1 SUR-510-1 ENTRANCE FRAME 10FT
2 SUR-510-2 YELLOW PLASTIC GUIDE RAIL
3 SUR-510-3 FEEDER SHAFT DOOR
4 SUR-510-4 PIN FOR FEEDER SHAFT DOOR
5 SUR-510-5 TRAP DOOR
6 SUR-510-6 PIN FOR TRAP DOOR
7 SUR-510-7 COVER FOR CYLINDER
8 SUR-510-8 PIN FOR COVER 1
9 SUR-510-9 COVER 2 FOR CYLINDER
10 SUR-510-10 PIN FOR COVER 2
11 SUR-510-11 FEEDER SHAFT-FORK FOR ROLLER UP
12 SUR-510-12 BEARING HOLDER (2)
13 SUR-510-13 GREASE SHAFT
14 SUR-510-14 FRAME FOR 4 TOOTH SPROCKET
15 SUR-510-15 YELLOW WASHER
16 SUR-510-16 1-1/2" GREY PLASTIC BUSHING
17 SUR-510-17 BRACKET FOR HYDRAULIC CYLINDER
18 SUR-510-18 HOLDER FOR VALVE
19 SUR-510-19 ARM FOR ROLLER UP (2)
20 HBSS 038 112 3/8" X 1-1/2" HEX. BOLT ZINC PLATED (5)
21 WEFSS 038 3/8" FLAT WASHER STAINLESS STEEL (5)
22 HNSS 038-S 3/8" NYLON INSERT STOP NUT S.S. (5)
23 CPSS 0532 100 5/32" X 1-1/4" CUTTER PIN STAINLESS STEEL (4)
24 HBSS 012 200 1/2" X 2" HEX. BOLT STAINLESS STEEL (17)
25 NSP-VPS 119 1 3/16" PILLOW BLOCK BEARING (2)
26 WEFSS 012 1/2" FLAT WASHER STAINLESS STEEL (17)
27 HNSS 012-S 1/2" NYLON INSERT STOP NUT S.S. (17)
28 AR-ECONO 4 TOOTH SPROCKET W/HUB
29 PHI-FRONT BRACKET FRONT BRACKET FOR CYLINDER
30 PHI-BACK BRACKET BACK BRACKET FOR CYLINDER
31 PHI-31/4BB3LLTS33X7 3-1/4" CAP FIXED CLEVIS HYD. CYLINDER
32 PHI-0509420000 PIN FOR CYLINDER
33 PHI-6-8 CBU-S 3/8"x1/2" FERULOK ST. THD. ELBOW
34 PHI-3/8FF-S 3/8" PIPE FIT NIPPLE (2)
35 PHI-3050-3 3/8" COUPLER
36 PHI-3005-3 3/8" STEEL PLUG
37 VBM-038 3/8" MILW BALL VALVE THREADED
38 SLT-PWN00500040112 1/2" STAINLESS TUBE
39 PHI-8BL 1/2" SEAL LOK NUT
40 PHI-L067320000 3"x5/8" CLEVIS BRACKET
41 PHI-E6UC6-MG 3/8" UNION ELBOW (2)
42 PHI-L067370000 2-1/2"x 3/4" ROD CLEVIS
43 PHI-2 1/2P16X6 2-1/2" x6 AIR CYLINDER
44 HBSS 0716 200 7/16" X 2" HEX. BOLT STAINLESS STEEL
45 NSP-1610X1 3/16 1-3/16" TAPER LOCK BUSHING (2)
46 SCB-51943 1/4"-28-1/8" 90 DEGREE GALVANISED PIPE ELBOW (2)
47 SCB-1688-B 1/8" 45 DEGREE GREASE FITTING (2)
48 PHI-W68PL-4-2 MALE CONNECTOR (2)
49 PT-E-43-0500 1/4" POLYETH TUBING (2)
50 HBSS 038 034 3/8" X 3/4" HEX BOLT S.S. (4)
51 SUR-510-20 CONNECTING ROD FOR THE AIR CYLINDER
52 SUR-DRUM DRUM
53 SUR-SPORDRUM 4 TOOTH SPROCKET WITH DRUM
54 SUR-510-21 HINGES FOR THE TRAP DOOR (2)




